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14.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF 8O, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheet liable for rejection.

You have to enter your Roll Number on the

Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet,

~ This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and English.

Each item comprises four responses (answers). You will select the response which you want to mark
on the Answer Sheet. In case, you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.

You have to mark your responses ONLY on the separate Answer Sheet provided. See directions in
the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

After you have completed filling in all your responses cn the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet, You are permitted to
take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

i) There are four alternatives for the answer to every question. For each question for which a wrong answer
has been given by the candidate, one-third of the marks assigned to that question will be deducted as
penalty.

(iiy If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question,

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question. .
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1. What is the correct sequence of order in
| communication process 7
(a) Decoding of message, Transmission,
Encoding of message and Feedback
(b) Encoding of message, Transmission,
i Decoding of message and Feedback
(¢) Decoding of message, Encoding of
message, Transmission and Feedback
(d) Encoding of message, Decoding of
message, Transmission and Feedback
2. In actual practice, the executive power of the
Union resides with the
(a} Prime Minister
{b) President
(¢) Council of Ministers headed by the
Prime Minister
(d} Vice President
3. When the volume of work in a Ministry
exceeds the manageable charge of a Secretary,
one or more wings may he established under
the charge of a
(a) Deputy Secretary
(b) Special Secretary/Additional Secretary
(¢} Under Secretary
(d) Deputy Director
4. Who among the following is responsible
for shaping the overall policies of the
Government in discharging its
responsibilities ?
(a} Ministers of State
(b) Prime Minister
(¢} The Cabinet
(d) Deputy Ministers
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(2-A)

In cases where decision is required, a file
should not pass through more than

{a) b levels
(b} 4 levels
(¢) 3 levels
(d) 2 levels

If any officer receives any oral instructions
from the Minister,

accordance with the
regulations, the officer should

which are not in
rules and

norms,
{a) Not take any action

(b) Seek further clear orders from the
Secretary, about the line of action to be
taken, clearly stating the situation

(¢} Postpone the action

(d) Decide on his own

A declassified file considered fit for
permanent preservation will be transferred
to the

(a) Ol Records
{b) National Archives
{c) National documents

(d) Permanent documents

Consider the following statements :

Any officials other than the Ministers and
Secretaries, if approached by a representative
of the press will normally

1. Direct the representative of the press to
the Press Information Bureau.

2. Seek the permission of the Secretary of
the Department before meeting the

press.
Which of the above actions should be taken ?
(a} 1lonly
(b} 2only

(¢) FEither1lor2
(d) Neither 1 nor 2
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9.  Which day of the week should be observed
strictly as a meetingless day to receive and
hear grievances of the members of the public ?
{(a) Tuesday
{b) Wednesday
() Thursday
{(d) Friday

10. What will be the date of restoration of
commuted portion of pension ? '

(a) 5 years from the date of retirement

(b} 10 years from the date of retirement
(¢) 15 years from the date of retirement
{(d} 20 years from the date of retirement

11. A member of a group who influences his

followers more than getting influenced by
. themisa

(a) Head

(b) Leader

{c) Motivator

(d) Manager

12. Which of the following is true in the case of a
Money Bill ?

(a&) The Rajya Sabha «c¢an  make
amendments in a Money Bill

{(b) The Lok Sabha has to return Money Bill
to the Rajya Sabha within 30 days

(c) The Speaker’s decision on the subject of
Money Bill is final

(d) The Finance Minister’s decision on the

' subject of Money Bill is final
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13.

14.

15.

16.

A)

Which of the following forms of
communication is meant for the officers of
equivalent level in the Central Secretariat ?

(a) Letter
() Demi-Official letter
(¢) Office Memorandum

(d) Inter-Departmental Note

Which of the following cases are known as
‘No-Noting’ cases ?

" (a) Routine or Repetitive cases

{(b) Action-in-Correspondence cases
(¢) Ephemeral cases

{d) Problem Solving cases

Consider the following characteristic features
for an Administrator :

1. Uses institutional resources more than
personal resources,

2. Uses personal resources more than
institutional resources.

3. Uses expensive resources.

Which of the above characteristic features
is/are correct for a good Administrator ?

{(a) 1land3only
{b) 2 and 3 only
{(c) 1only
(d) 2only

Which one of the following has to give
concurrence in case of financial sanctions
involving Foreign Exchange ?

(a) Department of Commerce

(b) Ministry of External Affairs

{c) Department of Economic Affairs
(d) Department of Financial Services
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17. The Committee on Public Ufldertakings
consists of
(a) 16 Lok Sabha Members and 06 Rajya
Sabha Members
(b) 14 Lok Sabha Members and 08 Rajya
, Sabha Members :
i {(c) 11 Lok Sabha Members and 11 Rajya
B Sabha Members
X (d) 15 Lok Sabha Members and 07 Rajya
' Sabha Members
18. The level of Desk Functionary should depend
‘ on
- (a) Connectivity and coverage of work
L (b) Nature and complexity of work
(¢) Intelligence and hard work
(d) Nature and comprehension of work
19. Consider the following statements :
Space planning activity arises \ﬁhen
1. A new or modified systercit or procedure
is adopted. ‘
2. An increase or decrease in either work
or personnel is made.
3. Complaints from the employees: are
héard about their work aréas. 7
Which of the above statements are correcf}?
(a) 1and2only .
(b} 1and3only
| (¢) 2and3only
! (d) 1,2and3
i
i 20. A compact machine which enables an officer |.
1 to record dictation at his convenience without
the aid of a Stenographer is
(a) MFD
(b) "'Diétaphone
(@0 EPABX
(d) Elélctronic Typewriter
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21.

22,

-23.

(6-A)

{a) Promulgation

| (b} Dissolution
(c) Prorogation
(@

ESTOFPPEL relates to
(a) Relitigation of the decided matter
(b) A person going back on his own legal
promise/statement '}. :
I
(c)  Scope of authority ‘I
(d} Non-inclusion of essential parties !'.

Consider the following statements :

An application to CAT against an executive
order on service matters can be filed by

1.  The aggrieved individual only.
2. Heir of aggrieved individual.

3. Group of persons with a commoi‘l
interest in the matter with the
permission of CAT.

Which of the above statements are correct ?

2 and 3 only '

(a)

(b) 1and2only ‘I
{¢) 1land3 only ' i
@ 1,2and3 : !

Termination of a session of the House is called‘{l‘

Adjournment 1\
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24.

25.
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Consider the following statements regarding a
Parliamentary Committee :

1.  Quorum of a Parliamentary Committee
is nearly 1/3" of the total number of
members of the committee.

2.  Members are liable to be discharged for
being absent for two or
consecutive meetings.

more

3. The sittings of the Parliamentary
Committee shall be held in private.

4.  Irrespective of willingness, a member
can be appointed to a Parliamentary
Committee.

Which of the above statements are correct ?
(a) 1,2,3and4

(b) 1and 4 only

(¢) 2,3 andd4only

{(d) 1,2 and3only

Consider the following statements in the
context of Guillotine :

1. I is not preceded by any motion,

2, It applies only to the Budget demands,
Appropriation Bill and Finance bill.

3. It is provided under Rule 208 (2} of the
Lok Sabha Rules of Procedure.

Which of the above statements are correct ?
(a) 1and2only

(b) 1and3only

{¢) 2and3only .

(d) 1,2and3

26.

27.

Consider the following statements in the

context of various stages of Records

Management :

1. Exercise judicious control over the
creation of records.

2, Maintenance of the records.

3. Modification of records in accordance

with circumstantial requirements.

4, Weeding out of the records that have
outlived their utility.

Which of the above statements are correct ?
(a) 1,2and3only

(b) 2,3 and4only

{c) 1,2and4only

(d) 1,2,3and4

A Special Casual Leave is admissible to a
Government servant for

1. Training and duty as a member of
Home Guards.

2. Donating Blood at recognized Blood
Banks on a working day.

3. Participation in the Republic Day
Parade as a member of St. John
Ambulance Brigade.

4. To exercise franchise during the

elections of Panchayat/Local bodies.
Which of the above statements are correct ?
(a} 1,2,3and4
(b} 1land4only
(¢} 2,3 and4only
(d) 1,2and 3 only
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28. The Principal agency for undertaking work
measurement studies in Government Offices
is
(a) Staff Inspection Unit
(b) Internal Work Study Unit
(¢) O & M Units
(d}) Ministry of Labour
29, Consider the following statements :
The Supervisors are expected to motivate the
junior employees by
1. Setting a good example.
2. Having regular informal meetings.
3. Giving adequate incentives and rewards.
4. Developing a team spirit.
Which of the above statements are correct ?
(a) 1,2and3only
(b) 1and4only
(¢) 2,3 and4only
{(d) 1,2,3and4
30. As per the dynamic features of non-verbal
communication, kinesics refers to
(a) Tone, quality of voice and speed of
speaking

(b} Gestures, facial configurations and
other movements of the body

(¢) Gestures, pitch of the voice and speed of
speaking

(d) Tone of voice, body language and
posture

31. Inthe ccntekt of referencing, ‘PUC’ indicates
(a) Promotion under consideration
(b) Paper under consideration .

(¢} Proposal under conclusion
(d) Property under charge
.B-RP/WX-O-BB ‘

32.

33.

34.

(10-A)

During suspension, a Government servant is
entitled to subsistence allowance equal to

(a) 50% of the leave salary initially and
then enhanced to 75% or reduced to 25%
as the case may be

(b) 40% of the leave salary + DA initially
and then enhanced to 60% or reduced to
20% aa the case may be

{e) 60% of the leave salary + DA + HRA
initially and then enhanced to 80% or
reduced to 30% as the case may be

(d) Full leave salary

Consider the following :

1.  Accounts Officer

2.  Branches of Nationalized Banks
3. Treasury including Sub-treasury

Which of the above are Pension Disbursing
Authorities ?

(a) 1and 2 only
(b) 1,2and3

{¢) 1and 3 only
(d) 2and3only

Which of the following sports qualify for
appointment of meritorious sportspersons ?

1. Archery
2.  Atya-Patya
3. Rowing

Select the correct answer by using the codes
given below :

(a) 1and?2only
{b) 1and3only
(¢) 2and3only
(d) 1,2and3
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A Government servant who has acquired lien
on a post retains the lien on that post

1. While performing the duties of that post.
2. While on leave.

3. While under suspension.

4, While on Foreign Service.

Which of the above statements are correct 7
(a) 1,2 and3 enly

{(b) 1and4only

{¢) 2,3 and4only

(d) 1,2,3and4

How many years are added to the length of
qualifying service of a Government servant
who is declared surplus and opts to retire
voluntarily ?

(a) O

(b) b

(¢ 10

{d) Number of years he served is doubled

During re-fixation of pay on promotion to the
new HAG scale where a Government
servant opts to have his pay fixed under
FR 22 (1) (a) (1), the officer will be granted

(a) One inerement
(b} Two increments
{¢) Three increments

{(d} Noincrement

Administrative Ministries can re-delegate
powers to the subordinate authorities in
respect of all matters except

1. Creation of posts

2. Write-off of losses

3. Re-appropriation exceeding 10% of the
original budget provision

Which of the above statements are correct ?

(a) 1andZ2only

(b) 1and3only

(¢) 2and 3 only

(d) 1,2and3

39.

40,

(12-A)

Which of the following nature of deductions
should not be made from the subsistence
allowance of a Government servant under
suspension ?

1. Amounts due on court attachments

2. Recovery of loss to the Government for
which the Government
responsible

gervant is

3. Subscription to a General Provident
Fund

Select the correct answer by using the codes
given below :

(a) 1and2only
(b) 1and3only
(¢) 2and3only

(d 1,2and3

Consider the following statements :

In the case of transfer to Foreign Service, the
Central Government may

1. Remit the contribution due in any
specified case or class of cases.

2, Make rules prescribing the rate of
interest, if any, to be levied on overdue
contributions.

Which of the above statements is/are correct ?
(a) 1only

(b) 2only

(c) Bothland2

{(d) Neither 1 nor 2
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41. Proposals relating to security personnel, who
accompany the President, Vice-President and
Prime Minister on trips abroad may be
approved by
(a) Foreign Secretary in consultation with

Ministry of Home Affairs

(b) Foreign Secretary in consultation with
F.A. (Ministry of External Affairs)

(¢) Foreign Secretary in consultation with
Ministry of Finance

{d) Defence Secretary in consultation with
Ministry of External Affairs

42. Consider the following statements :

A Government servant is eligible to receive

and retain without special permission from

the Government

1.  Any reward offered for the arrest of a
eriminal or for information or special
services in connection with the
administration of justice.

2.  Any reward payable in accordance with
the provisions of any Act, Regulation or
Rule framed thereunder.

3. Any reward sanctioned for services in
connection with the administration of
the Customs and Excise Laws,

Which of the above statements are correct ?

{(a) 1and?Z2only

(b) 1and3only

(¢) 2and3only

(d) 1,2and3

43. A candidate having got a pacemaker
implanted may be considered fit for
Government Service, except for the post of
{(a) Teacher
(b) Pilot
(¢}  Assistant
(dy Office Manager

.B-RP/WX-O-BB

44.

45.

46,

(14-A)

The Service Book of a Government servant is
required to be maintained in duplicate. In this
context, which of the following statements is
correct ?

(a) First copy shall be retained by the Head
of the Office and the second copy should

: be given to the Government servant

(b) First copy shall be given to the

' Government servant and the second
copy should be kept with the Head of
the Office

(¢} Both the first and the second copies
shall be retained by the Head of the
Office

Both the first and the second copies
should be given to the Government
servant

(d)

As a general rule, casual leave can be granted
in combination with

1. Special casual leave
2. Regular leave

3.  Both Special casual leave and Regular
leave

Which of the above is correct ?

{a) 1lonly
(b) 2only
{¢) 3only
(d) None of the above

In the event of a Government servant
remaining absent without any authority,
what action should be initiated against
him/her ?

(a)

(b) Issue suspension order

Issue a charge sheet

(¢) Informing him/her of the consequences
of such absence and direct him/her to
rejoin the duty immediately/within a
specified date, say within 3 days, failing
which he/she would be liable for
disciplinary action

(d)

Issue a Recorded warning
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47. An apprentice is entitled to get
1 Leave on Medical Certificate, on leave
salary equivalent to half pay for a
period not exceeding one month in any
year of apprenticeship.
2.  An extraordinary leave under Rule 32 of
FRSR Part III.
Which of the above statements is/are correct ?
{(a) 1lonly
| {b) 2 only
{(¢) Bothland2
| (d) Neither 1 nor 2
|
48. What is the correct order of eligibility of next
| of kins for the payment of cash equivalent of
leave salary in case of the death of a married
male Government servant ?
| (a) Widow, eldest surviving son, eldest
. surviving unmarried daughter, father
and mother
{b) Father, widow, eldest surviving son,
eldest surviving unmarried daughter
and mother
(¢) Widow, eldest surviving son, father,
eldest surviving unmarried daughter
and mother
(d) Mother, widow, eldest surviving son,
eldest surviving unmarried daughter
and father
49. What action should be initiated against a
pensioner, who is convicted in judicial
proceedings for an offence committed by
him/her while in service ?
1L Impose a cut in the pension
2. Stoppage of pension
3. Issue a shaw-cause notice
Select the correct answer by using the codes
) given below :
‘ {a) 1,2and3
‘ ’ (b) 2only
| (¢) 3only
| (d) 1lonly
.B-RP/WX-O-BB

50.

51.

{16-A)

Consider the following statements in the

context of limitations on the pension of a

military pensioner whe is re-employed in civil

service :

1. Pension is not payable to him for his
prior military service.

2.  Pension is not payable to him for his
~ second spell i.e. civil service.

3. In addition to the first pension, the
military pensioner is eligible to get the
second pension also for the civil service
rendered by him/her.

Which of the above statements is/are correct ?

(a) 1,2and3

(b} 1lonly
(c) 2 only
{d) 3only

Consider the following statements for a
female Central Service Group ‘A’ pensioner,
who wishes to accept an employment under
Government outside India :

1. She 1is required to obtain prior
permission from the Central
Government, unless she has been

permitted for such employment during
her leave preparatory to retirement.

2. If the permission is not taken, no
pension is payable to her for the period
of such employment.

3. She may choose to claim only a partial
pension, if she does not wish to seek any
permission.

Which of the above statements is/are correct ?

(a) 1only

(b) 1and3only

{(¢) 1and2only

{(d) 2only
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52, If a pensioner who, immediately before his | 55.
retirement, was a member of Central Service
Group ‘A’, wishes to accept any commercial
employment before the expiry of one year of
his retirement, he
1. May accept employment without

seeking sanction of any Authority.
2. Shall obtain the previous sanction of the
Government.

3. May simply inform the Government

after accepting employment.
Which of the above statements is/are correct ?
{(a) 1only
*(b) 2only
(¢) 3only

(d) 1and3only

53. The Competent Authority to withhold or
 withdraw  the pension of a Central
Government servant is the
(a) Cabinet
(b) Finance Minister
(¢) Prime Minister
(d) President of India

l
54. Consider the following statements in the | 56-
context of CCS (Pension) Rules, 1972 : _

1. Employees of Union Territories are also

‘ governed by the CCS (Pension) Rules,
1972.

2. There is no distinction between
permanent and temporary employees
insofar as the application of CCS
(Pension) Rules, 1972 is concerned,

3. Temporary Government servant with
less than 10 year’s service, who retires
on superannuation, discharged from the

service, ete. is eligible for gratuity as for
permanent Government servant.

J Which of the above statements are correct ?
1 (a) 1and2only
' (b) 1and3only

() 2and3only

(d) 1,2and3

.B-RPAWX-O-BB (18-A)

Which of the following are admissible for
Medical reimbursement ?

1.  Expenditure incurred on account of
treatment of sterility

2. Treatment for Venereal Diseases’ and
‘Delirium Tremens’

3. Treatment by Private Dentist with the
advice of authorized medical attendant

4, Medical termination of pregnancy
performed at a Government Hospital

Select the correct answer by using the codes
given below :

(a) 1,2 and 3 only
(b) 3 and 4 only
(c) 1,2and4only

(d) 1,2,3and4

High-end prosthetics/appliances will be
reimbursed only to the eligible Government
servants and their dependents subject to

1. The upper age limit for sophisticated
appliances will be 45 years.

2. The reimbursement will be made
within the ceiling limit fixed for such
appliances beyond which the beneficiary
will bear the cost.

Which of the above statements is/are correct ?
(a) 1lonly

(b) Z2only

{¢) Bothland2

{(d} Neither 1 nor 2
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The Controlling Officer shall reject any claim,
if he is not satisfied with the facts presented
by the claimant after giving an opportunity to
the claimant of being heard in the matter. The
claimant may submit an appeal to the Central
Government within a period of

(a) 60 days of the date of receipt of the
order rejecting the claim

(b) 45 days of the date of receipt of the
order rejecting the claim

{¢) 30 days of the date of receipt of the
order rejecting the claim

(d) 15 days of the date of receipt of the
order rejecting the claim

To whom is the reimbursement of expenses
on purchase/replacement/repair/adjustment of
Hearing Aids to the Central Government
employees and their families required to be
made ?

1. Government Hospital where treatment
is taken

2. Government Servant
3.  Supplying Agency

Select the correct answer by using the codes
given below :

(a) 1only
{(b) 2only
(¢) 3only

{d} Eitherlor2or3

59,

60.

(20-A)

Which of the following are admissible for
reimbursement ?

1. Exzpenditure for Intra-Ocular lens
implantation charges undertaken in a
Government hospital

2. Cost of contraceptives

3. Expenses on post operative care of the

donor of a kidney

Select the correct answer by using the codes
given below :

(a) 1lonly
(b} 1and3only
{¢) 3Jonly

(d) 1,2and3

Which of the following Private Hospitals are
recognized for Coronary Bypass Surgery for
reimbursement ?

1. Bombay Hospital, Mumbai
2. Apollo Hospital, Chennai
3. Woodland Nursing Home, Kolkata

Select the correct answer by using the codes
given below :

(a) 2only
(b) 1and3only
(¢) 2and3only

(d} 1,2and3
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Reimbursement of the cost of OPD medicines
is permissible for

1. Oncology cases.

2. Post operative joint replacement cases.

3. Post operative Major Neurosurgical/
Neurology cases.

Which of the above are correct ?
(a) 1and 2only

(b) 1and3only

(¢) 2and3only

(d) 1,2and3

Which of the following documents are
required to be submitted for reimbursement of
Liver Transplantation ?

1. CT/MRI Liver report
2.  Etiology evaluation report

3. Histopathological  report,
available

Select the correct answer by using the codes
given below :

(a)
(b)
(c)
(d)

wherever

1 and 2 only
1 and 3 only
2 and 3 only
1,2and 3

In which of the following circumstances can a
Government servant be placed under
suspension ?

1. When a disciplinary proceeding against
him/her is pending,

2. When a case against him/her in respect of
any criminal offence is  under
investigation.

3. When he/she continues to remain absent
from duty or overstays leave without
permission.

4. When he/she has engaged himselt/herself
in activities prejudicial to the interest of
the security of the State.

Select the correct answer by using the codes

given below :

{a) 1,2and 3 only

(b) 3 and4 only

(¢) 1,2and4only

(d) 1,2,3andd4

64.

65.

(22-A)

Consider the correctness of the following
statements regarding the headgquarters of a
Government servant during suspension :

1, A Government servant cannot leave
his’her headquarters without prior
permission.

2. The competent authority cannot change
the headquarters of a Government
servant.

3. The competent authority may change
the headquarters of the Government
servant, if he requests for the same and,
if it does not involve extra expenditure
or administrative complications.

4, If the Government servant is on bail,
the fixing of his/her headquarters will
be subject to any restriction imposed by

the Court.
Which of the above statements are correct ?
{(a) 1and2only
(b 1,3and 4 only
{c}) 2and4only
(d} 1and 4 only

Which of the following deductions can be
made from the subsistence allowance of a
Government servant ?

1, Recovery of loss to the Government
caused by the Government servant
concerned

2. Income tax

3. House rent and allied charges i.e,

electricity, water, furniture, etc.
4, CGHS contribution

Select the correct answer by using the codes
given. below ;

(a) 2,3and4only
{(b) 1,2and3only
(¢) 1and4only
(d 1,2,3and4
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66. A Government servant under suspension

1. Can avail leave travel concession for his
family but not for himself.

2. Can avail leave travel concession for self
only.

3. Is eligible for grant of children
education allowance.

4.  Iseligible for house building advance.

Which of the above statements are correct ?

(a) 2and8only

(b) 1,3 and 4 only

{¢) 2,3 andd4only

{d) 3 and4only

67. In which of the following cases, is the
reinstatement in service of a Government
servant under suspension/whose service has
been terminated possible ?

1.  If the penalty of compulsory retirement,
removal or dismissal from service
imposed upon him is set aside by a
Court of law

2. If the penalty of compulsory retirement,
removal or dismissal from  service
imposed upon him is set aside by the
Appellate/ Revising Authority

3. If the departmental proceedings
instituted against him are withdrawn

Select the correct answer by using the codes

given below :

(a) 1and 2only

(b) 1 and 3 only

(c) 2and3only

d 1,2and 3

.B-RP/WX-O-BB

(24-A)

68.

69.

A Government servant under suspension is
entitled up to the first three months of the
period of suspension, to subsistence allowance
at an amount equal to

(a) Full pay

(b) Half pay

(¢)  One-third of pay

(d) Two-third of pay

Under which of the following circumstances,
may a Government servant be placed under
suspension ?

1. Where a disciplinary proceeding against
him is pending

2.  Where a case against him in respect of

any criminal offence is under inquiry
3. When he is absconding

4, Where he has engaged himself in
activities prejudicial to the interest of
the security of the State

Select the correct answer by using the codes

given below :

{a) 1and 2 only
(b} 2and 3only
(¢) 1,2and4only

(d) 1,2,3and4
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70.

T1.

72,

.Bl-R PWX-0-BB

After the Appellate Authority has passed its
judgment against a Government servant and
if he is not satisfied with it, he can seek the
indulgence of a higher authority — the
revising authority. Which of the following
authorities is/are vested with the power of
revision ?

1.  The President

2. The Comptroller and Auditor General

3. The Member (Administration} Postal/
Telecommunications Board

Select the correct answer by using the codes
given below :

(a) 1lonly

(b) 1andZ2only
(¢) 1and3only
(d 1,2and3

Which of the following documents can be
accessed by a Government servant involved
in a departmental enquiry for defending
himself ?

(a) The Report of Preliminary
inquiry/investigation

{(b) File dealing with the disciplinary case
against him

(¢) Copies of previous statements of

witnesses who are to be examined
during the enquiry

{d) Advice of the
Commission

Central Vigilance

In an establishment where provision for leave
reserve exists, any vacancy caused on account
of suspensien of a Government servant,
should normally be filled by

(a) Areservist
{(b) An officiating appointment
(¢) Creating an extra post

{d}) None of the above

73.

74.

75.

(26 -A)

The standard form of order of suspension of a
Government servant in respect of a criminal
offence is issued to the officer by order and in
the name of

1. The President of India
2, The Appointing Authority

Select the correct answer by using the codes
given below :

(a) 1lonly

(b) 2only

{c) Either lor2
(d) Neither 1 nor 2

The Appointing Authority of Delhi and
Andaman and Nicobar Islands Civil Service,
Grade-I1 is

(a) Secretary, Department of Personnel and
Training

(b} The Establishment Officer, Department
of Personnel and Training

(¢) Deputy Secretary, Ministry of Home
Affairs

(d) Joint Secretary, Ministry of Home
Affairs

All Ministries/Departments are required to
submit disciplinary cases involving Court
cases to the Union Public Service Commission
through

(a) A Lawyer
{b) Chief Vigilance Officer
{c) Single window system

(d) Registered post
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76. A person who has ceased to be in Government | 78.
|

service can appeal to the Appellate Authority

concerned, against order of the Disciplinary

Authority within a period of

(a) 30 days from the date on which a copy of
the order appealed against is delivered
to him

' (b) 45 days from the date on which a copy of
| the order appealed against is delivered
to him

(c) 60 days from the date on which a copy of
the order appealed against is delivered
to him

(d} 75 days from the date on which a copy of
the order appealed against is delivered
to him

79.
77. When a Head of Mission is lodged in a hotel

on his arrival at a post abroad pending the

provision of regular accommodation, his

private Indian servants whose cost of passage

is borne by the Government will be entitled to

accommodation in a hotel at Government cost

subject to which of the following conditions ?

1.  Accommodation will not be more than
what is admissible to a Group ‘D’
Government servant. 80.

2.  Accommodation is provided at the .
lowest possible rates.

3. Duration of stay will not exceed the
period for which the officer himself is
permitted to stay in a hotel.

Select the correct answer by using the codes

given below :

(a} 1,2and 3

(b} 1only

(¢) 2only

(d) 3only

.B-RPWX-O-BB (28-A)

If an officer is transferred from a post abroad
to a post in India and before joining his new
post takes home leave, he shall, in addition teo
the allowances admissible, be entitled to HRA
for the period of leave spent in India, subject
to the conditions prescribed, at the rates
admissible in

{a) ‘B’ class city .
(b) ‘C classcity
(¢} ‘A’ class city

(d) Class of city at the discretion of the
Controlling Officer

A Head of Mission accredited to more than
one country may be paid

(a) Foreign Allowance
(b) Charge d’Affaires Allowance
(¢) An additional representational grant

(d) Quantum of grant to be decided by the
Ministry of External Affairs

Language allowance will be admissible to an
officer of the Indian Foreign Service from the
date of

(a) Passing his compulsory language
{b) His confirmation in service

(¢) Passing his compulsory language and/or
his confirmation in service, whichever is
later

(d) Passing his compulsory language and/or
his confirmation in service, whichever is
earlier




76.

77.

.B-RP/WX-O-BB

H% =i, W gl [ar ° T& | TR,
EEfE Wited % Irew & foRg Heldw
afid Wit =t foradt safu & i@ ardfiw
T HHAT B ?

() 38 FE ey, Frmeh feg ardiet 41 T &,
feu w1 fafyr @ 20 fem

b @ 3% ey, fas fawg ordia i M &,
fou s A fafa @ 45w

© 0 a8 ey, Py fieg orfia & 8 g,
feu 5 <6 fafy @ 60 fem

@) IV T Iy, Forws favg arfim ) 8 3,
fresm ey a5t

o fedt finmame =+, fRw 4 waew g
AR W FEfm smem Y =ger 31 T
Tt dew@ A sgmm Smar R, @ I fh
WA Haeh, S fewam = @ awR
g g5+ fean man g, et gee O uw @
W FrE-gayr 3g Fefafas 8 @ R wdfm
Idl & YA ghgr g 7

1. gaygfa Imd ofys  wvft, S
g 2 gl e & forg =i R |

2. IR-gRw fF=mm v U W ITersy S8
Uil

3. 3§ Y srafy 3@ wwy ¥ i TE Bof,
fras fou Tg afusl = gea § 330
& fore e 2

Hrt fou e g 1 vE W RE IR g

(@) 1,233

(b) Fad 1

(&) Had 2

d) +9F 3

(20-A)

78.

79.

80.

afe frdt e =) faey & fodl 2 9w
7 fordft ve W wamEiG R wmar 3, oK U
T & FEIRY ¥ 7d 9% T8 gE ot 7, @ 9@
erd wwt & fafes, awa # faad g
$1 aafy % fore, fafea wal & arefiv, g Soft
F PR & fov e eff | HRA & o 3sen
T 7

(2) ‘B’ &vf I AR
by ¢ AT T TR
€ ‘A’ A0 & TR

(@ FrEm sl % faser Soft 1 A

fFelt fimmage =1, & w & afys o |
e e wn B, fhme wam R oo
THaT g 7

@ fagm s

(b) THIEH W
(¢ afafs shaframmeas sHEaE

@ foew v gw fafafwm ) 9 aeh
3gEH i TN

qRe foresr Qe & fordl arfterdl =1 win s
g fafy @ Wl 5 2

(2) rfrar vr It @ &
() 1§ 35 TR hi fafy

(© fard sy 3ol w1 & fafa atv/aremn
A § vorftaor ) fafy, St of e ¥ &

syt et Fefivf = i fofs fiy/arean
Far A vl B 7Y, S off w@ |

(d)




81. Booklellowance to an IFS probatloner under 84,
trammg is restricted to the purchase of books
relatmg to

1. Indlan History, Politics, Economics,
Arts and Culture in general. :

-2, Indlas cultural and other contacts and
relations with other countries.

3. Compulsory language allotted to the
IFS probationer.

Wh1ch of the above statements are correct "
(a) '1and 2 only

(b) 51 and 3 only

(c) 2 and 3 only

(d) 1,22nd3

82. Who ;a.mong the following are entitled to “risit
1'.helr| parents working as IFS ofﬁcers in

M1ssmns abroad under the Children’s; Hohday
Passage Scheme ? : ‘

1. 'Chlldren getting education in |any
mecogmzed 1nst1tut10n1nlnd1a. § . 85.

K3

2. Chlldren getting educatlon .in | the
Natlona.l Defence Aacademy %

Select the correct answer by«, using thﬁe codes
glven below : f
‘g’-'
(a} ; 1 only ;
(b) 2 only

(¢) {Both1and?2
{(d) : Neither 1 nor 2

83. The iIFS officers are entitled to a\{_aili the
beneﬁt of “‘Children’s Holiday. Pas‘sage 86.
Scheme once every : ‘

{a) 12 months for a maximum of 2. chlldren
' between the ages of 6 and 22 years

(b) ! 24 months for a max1m:un1 of 2 children
' between the ages of 6 and 22 years }

{¢c) . 12 months for a maximum of 2 children

! between the ages of 6 and 25 years

(d) ' . 24 months for a maximum of 2 children
. between the ages of 6 and 25 years

B-RP/WX-O-BB (30-A)

No construction work shall be commenced

until

1. Administrative approval has been
obtained.

2. Sanction to incur expenditure has been
obtained.

3. Funds to cover the charge during the
year have been provided.

Which of the above statements are correct in
the context of the provisions contained in the
General Financial Rules ?

(a) 1and2only
(b) 1land3only
(¢) 2and3only
(d) 1,2and3

The term ‘goods’ used for procurement of
goods and services by a Ministry/Department
excludes

(a) Lavestock

(b} Industrial plant
(¢) Books

(d) Raw materials

It is mandatory for a Central Government
Department to publish an inquiry for seeking
an ‘Expression of Interest’ where ‘the
estimated cost of a work or service is above
Rupees

(a) One crore

(b) Seventy-five lakhs
(¢) Fifty lakhs

(d) Twenty-five lakhs
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87. Which of the following statements is/are | 90.
applicable where a Ministry decides to
outsource a service under the provisions of
Rule 178 of General Financial Rules ?

1 1.  Issue of a tender enquiry is necessary.

| 2. Contract can be placed on the basis of a
single tender enquiry subject to
fulfilment of certain conditions.

Select the correet answer by using the codes
given below :

(a) 1only

(b) 2 only

(¢} Bothland2
(d) Neither 1 nor 2

88. Sample physical verification of books in cases
of libraries having more than fifty thousand
volumes should be done at intervals of not

more than
|

(a) 1year
(b))  Zyears

(¢) 3 years

(d) 4 years

89. Which of the following statements are true,
when hefore release of grants-in-aid, the 9.
members of the executive committee of the
grantee are asked to execute bonds in a
prescribed format ?

1.  To abide by the condition of grant-in-aid
by the target dates.

2. Not to divert the grants.

To abide by any other conditions
specified in the agreement governing
the grants-in-aid.

Select the correct answer by using the codes
given below

i (a) 1and 2only
(b} 1and3only
(¢ 1,2and3
(d) 2and3only

.B-RP/WX-0O-BB (32-A)

Which of the following considerations are
required to be kept in view for recommending
Government of India guarantee or
counter guarantee while examining the loan
proposal ?

1.  Public interest which the guarantee is
expected to serve.

2. Creditworthiness of the borrower.
3. Special provisions for the private sector.

4. The conditions prescribed in the
guarantees. '

Select the correct answer by using the codes
given below :

(a) 1,2and3only
(b) 3 and4only
(© 1,2 and 4 only

(d 1,2,3and4

Which of the following are Capital Receipts?‘
1. Internal debt

2. External debt

3.  Local taxes and duties

4, Repayment of loans and advances made
by the Central Government

Select the correct answer by using the codes
given below :

(a) 1,2 and 3 only
(b) 3 and4only
(¢) 1,2and 4 only

(d) 1,2,3and4
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92. Which one of the following records can be | 95.
destroyed ?

(a) Service books of officials entitled to
retirement (one year after issue of final
pension/gratuity payment order)

(b) leave account of the employees
other than  those  entitled to
retirement/terminal  benefits  (three
years after they have ceased to be in
service)

(¢) Orders and sanctions of a permanent
character, until revised

(d) Records in respect of which an audit
objection is outstanding 96.

93. Advances for bicycles and warm clothing
given to the Central Government employees
have been made interest free on the basis of

the recommendations of

(a) Sixth Pay Commission

{b) Fifth Pay Commission

{¢) Fourth Pay Commission

{(d) Seventh Pay Commission

94. A Gazetted officer designated by the Head of

the Department to draw bills and make 97

payments on behalf of the Central :

Government is called, the

(a)  Accounts Officer

(b) Audit Officer

{c) Controlling Officer

(d) Disbursing Officer

B-RPWX-O-BB (34-A)

Who is responsible for the due recovery of the

rent when maintenance of any rentable
building is entrusted to a civil department
other than the CPWD 7

(a) Administrator or Head of the

Department concerned

(b} Accounts Officer of the Department
concerned

(¢) Controlling Officer

(d) Financial Advisor

All financial sanctions and orders issued by a
competent authority in a Ministry or a
Department of the Central Government shall
be communicated to

1. The Finance Ministry

2, The Financial Advisor of the
Ministry/Department

3. The Audit Officer and the Accounts
Officer

Which of the above is/are correct ?

(a) 1lonly

~(b)  2only
{(c) 3only
(d) 1,2and3

The estimates for expenditure for which vote
of Lok Sabha is required shall be in the form
of

(a) Annual Financial Statement
(b) Budget
(¢} Revised Estimates

{d) Demand for Grants
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